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Given the table below:

x| 3 Perod =W
y Am@ = 0.5

' AN g 1 a.{lww ;

\J

e@:ﬁ%& and r = 2. What is the approximate sum of
‘Sequence?
|3, 103, A

S - 3R
{1-(2))

A 339.4
B 8,688.9

C 29,6249

A bathroom floor has tiles arranged in 9 circles. The innermost circle contains
9 tiles. Each successive circle contains 9 more tiles than the previous circle. How
many total tiles are on the bathroom floor?

A 81 A A

B 396 q/ l%() o
< é%(}?) Qﬁ =94+a(9-1) = S|

= L (avs))
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A Ferris wheel has a diameter of 80 feet. Riders enter the Ferris wheel at its lowest
point, 5 feet above the ground, at time ¢t = 0 seconds. One complete rotation takes
65 seconds.

(62¢

N

hit) = "80cos ("5§

hit) = é{}magg‘

t)\g— '

hit) =~

335 HLTS (S

How does the graph of g{x) = 0.5cos{2x) differ from the graph of its parent
function, fix) = cos(x), over the interval ™z € x < =?

2

C
D

The amplitude is smaller, and the period is shorter.
The amplitude is smaller, and the period is longer.
The amplitude is larger, and the period is shorter.

The amplitude is larger, and the period is longer.
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Two sides of a triangle measure 14 ftand 17 ft, r efy%fhe included angle is

72°. Approximately how long is the third side

CA 184D

B 203 ft
C 25.1ft
D 30.7 ft

X [B5+10x) = 15x (X +S)

~bo=8x F=-12)
. | S3tow =15 x+1D %o, Qﬁ 2
Which is the solution set for x if 2e? + 5e* - 12 = 07? S—

A fn2,mn4) (2" = 3"+ 1)

o
*

ny —%: @,X’S ‘”’“Li‘:
X=InZ %= ()
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x+\ox =B
X Z1 10645 =€ +a5

(x+s)-33

, ' @ |
Which expression is equivalent to % - tan(@)? ( oS [r5singr -
;x -~ y (f - gm_s&a‘)él &)
st (07COS ?‘90 *5‘“';’”) -
COS%&r

Hfsing _ sine
(oSt Coser

\
Cosg = Sc©

William put the tip of his pencil on the outer edge of a graph of the unit circle at
the point (0, 71). He moved his pencil tip through an angle of %?5 radians in the

counterclockwise direction along the edge of the circle. At what angle of the unit

circle did William’s pencil tip stop?
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Which is the inverse of f(x) = \< !
X=1.5'+4

X-H = \\6Y
‘C‘j (x-t) = 'K loﬁ .S

A fHx) =

B fix)=

The recursive formula for a sequence is U, = U,y + 12, where U, is the nth term of
the sequence and U, = 7. Which explicit formula can be used to determine the nth
term of the sequence? N

I Y

A 7n+19 G o

]
B 7n+12 © ' +
C 7+ 19n ~—7

+ 12n -\ Y
o O\So o SWRET

i fax" @5{‘:‘2 is represented by the expression
' % length is (x - 6) and the height and width are equal,
prism?

—% 2 | J 6 24 34

C x+ 4 ! % L( O
KoY
C w2 Y X+2)
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L . ' A’ . -
Which is an equation of a parabola tha *s%“é;f&cmx of y =75 and a focus at

Given the function:

T x + 4x ~2Nx -6) — {XMJ(K“(E?\)

. Wwhat are the equations of the asymptotes of the function?

. Determine if there are any points of discontinuity. Explain why or why
not.

. Describe the end behavior as x approaches -o and as x

approaches +oo,
W = ,.4 \ A, ( 3 -—'2,»)\
Y=¢ VA Q (?;M ‘/3 (,
\{ -0 PR (Derom > Nuener) PV ! Mﬂ {>

wf{?"‘{ iy

Eno Belnguor — S‘f\gg_,"s’"la,, %—Ha( W5 0/

Hen 05 X -0 y>0

X2 y=>0 —
w"\.—./—

y=x" Sup, Aaght
\

= (% -2)*+5 = X2-Yy+4U¥rD = (X ‘”‘%4@




